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1. A bar is subjected to a plane stress, and strains are ex =-0.0024, hj.. = 

0.0044. If the modulus of elasticity E =200GPa and Poisson's ratio v = 

0.28, what is ax? (a) -253.5 MPa; (b) 809 MPa; (c) 190 MPa; (d) None of 

the above. (20 %) 
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2. Which relation is correct? (a) G = ( ); (b) G =( ); (c) G =( );

1+ v 1- v 1+ 2v 

(d) G= (E r (20 0/0)
21+v 

3.	 The components of plane stress are O'~= 20 MPa, OJ =0, t'xy =O. What is 

oy' at 9= 45°? (a) 0 MPa; (b) 5 MPa; (c) 10 MPa; (d) 20 MPa. (20 0/0) 

4.	 Which relation is correct for deflection v, distributed load H', shear load 
-~~---~-~- . ----- - ._--._.------~-----.: -- ---- -~-- ~-- - ----­

- .------._. V; db di tM? ( ) dV =M., (b) dM () dJv =~. (d) 
, an en mg momen . a dx dx =-W; C dx3 EJ ' 
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d v =.z., (20 0A.)
 
dx' EJ
 

5.	 The components of plane strain at 9= 0° are ex =-0.008, bY =0.006, and 

Yxy =-0.012. Use Mohr's circle to determine the maximum in-plane shear 

strain. (20%) 


